value

0.8-

0.6-

0.4-

0.2-

PC.ae.C30.0

F rimmed-means(3.75,832.92) = , p = NA, 8"}, = 0.31, Clasy [0.11, 0.55], Npayrs = 371

P Bonferroni-corrected = 0.003

' —
P Bonferroni-corrected = 0.017

P Bonferroni-corrected = 0.013
P Bonferroni-corrected = 2.63€-05

ﬁtrimmed =041

d ﬁtrimmed =0.34

ﬁtrimmed =0.36

ﬁtrimmed =0.28

ﬁtrimmed =0.26

agleo aglel agle2 agle3 agle4
(n=371) (n=187) (n=52) (n=207) (n =207)
age

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant

-0.8

-0.6

-0.4

-0.2

anfea



